a(d cot(d))
5

a(0 @) (raqd)

1072

1073 -

SO OO 2 A 1 | A EE

E

I T I DR

1 107 1

3
10 02 1
TP, (PCA t% beamling
—s=— DQM_V0001_R000000001__Global__cmssw1000time__RECO
—e— DQM_V0001_R000000001__Global__mkFitNewOLD1000time__RECO
—— DQM_V0001_R000000001__Global__mkFitOLD-checkDet__RECO

1=

= =
= 1]
5 5]
2 =
= =
< -
> o
=2 =2
3 ©

107
1071

8 :
= ... A
G T © 1.2F B
o r g
[..... + .| T Ny L
¥ ¥ 3
P ) N R S o + 5 .
+14 1 : 0.8f---- T

107 1

1071 1

=

o p/p.)

1 1
4
4+
— AP P % Y 1 Y A 0 A Y Y T
ol10C
= N +
= [
@ | I R
r 4L 1+
0.8f-----" i T

: 2 3
TPl[:g)T (PCA t%)obeamlin%)o



	Contents
	Page 1


